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A T
GENERAL KNOWLEDGE

AR 1 UgeTl |1 fieM ‘31fecs wert’ s geifya femam mm em 7

(A) Toawsr 2023 (B) st 2024 (C) SId 2023 (D) A 2023
When was first solar mission of India ‘Aditya L1’ launched ?

(A) September 2023 (B) October 2024 (C) June 2023 (D) November 2023
forg wret ® 90 TR @, 2023 IEifSE fRr @ 9 7

(A) ST (B) T (C) &Mt (D) =T

In which city Para Asian Games, 2023 were held ?

(A) Beijing (B) Guangzhou (C) Hangzhou (D) Shanghai

2024 ¥ vl wfefa wa fafima i (Ish) 1 srener fopar ey fomam o o 2

(A) 3T = (B) TTHS I = (€) I. %. fa=r (D) €. AR, Hear
Who was appointed as the Chairperson of the Securities and Exchange Board of India (SEBI) in 2024 ?
(A) Ajay Tyagi (B) Madhabi Puri Buch (C) U. K. Sinha (D) D.R. Mehta
aftrerrg ¥ ush Fft Torifaes wel < “aftremm 9 sherm” fermeh g IE Y TR 9

(A) SIS TET (B) TSTehta

(C) IRd FAR (D) % oot TRt

Who launched ‘Tamilaga Vettri Kazhagam’, a new political party in Tamil Nadu ?

(A) Kamal Hasan (B) Rajnikant

(C) Ajith Kumar (D) Joseph Vijay Chandrashekhar

19 9 Sft-20 f3reR T el SfSa fomam mam o 2

(A) 7§ feoett, wra B) T fg s, smsfier

(C) Sehrell, ST (D) HTEhI, TE

Where was 19" G-20 Summit held ?

(A) New Delhi, India (B) Rio de Janeiro, Brazil

(C) Jakarta, Indonesia (D) Moscow, Russia
e ARA AN 61 FeATd Ha gl ?

(A) 2 IR, 2014 (B) 21 3T&d, 2014 (C) 2254l 2015 (D) 28 37, 2014
When Swachha Bharat Mission was started ?

(A) 2 October, 2014 (B) 21 August, 2014 (C) 22 January, 2015 (D) 28 August, 2014
FoTSIfifa Tierur 1 ST wevem fhee feam o ¢

(A) 3. T Sfam (B) T. J. TH (C) . TA. WA (D) T. TH. TgaEH
Who was the first to apply the sociometric test ?

(A) J. A. Davis (B) A.J.Reiss (C) J.L.Moreno (D) A. M. Edwards
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8.

10.

11.

12.

Frefefaa =1t e § =afer S
|. SR a9
II. HHT BT TEHEH
IIl. Toeh! o1 forwersor
IV. THehT ST SR TehToT
= feu M %< T ¥ g IW ﬁ’ﬁ? :
e :
(A) LIV, B) LIV, I, C) 1L LIV, I (D) 1, 1L, 1, 1v
Arrange the following in a sequence :
I. Raw Data

Il. Data Processing
lll. Analysis of Data
IV. Presentation of Data
Choose the correct answer from the code given below :

Code :

(A) 1, 11, 1V, Il B) I, IV, III, II (C) 1,11V, 1 (D) 1,1, 11, IV
frefafad § & $H-91 T g IfqwriiEt s e @ a e Y 1 e Afde e e v
(A) TR T FHwad e (B) fersmet ufergst 3TepR e ST

(C) 3I~Ta Ny Ugfrdi =1 J=AT HEAT (D) SfqTfit =it TTaferaT s W@t

Which one among the following is a primary ethical consideration when conducting research involving
human participants ?

(A) Ensuring statistical significance (B) Achieving a large sample size

(C) Utilizing advanced research methodology (D) Maintaining participant anonymity

W I1ferm S 3ot e fveror i fafyr 2, fohmes g sy i i ¢

(A) Taform S (B) SMH TR (OEEES] (D) Sf= frm
Who introduced discovery learning method of inquiry based education ?

(A) William James (B) Jerome Bruner (C) John Dewey (D) Jean Piaget

foaformer srgH smIm H BH-H vgd 3= fen 7 “felrea afin” 6 gAfoi &1 gmum w@
%1 A&T @l B 7

(A) =8 YRd JIREE (B) W Tedia feforeet wmssift (NDLI)

(©) fefsrea sfean wrishn (D) sfeu 7t Ui o ferafammer™ (IGNOU)
Which initiative of UGC aims to address the challenges of “Digital Learning” in higher education ?

(A) Swachh Bharat Abhiyan (B) National Digital Library of India (NDLI)

(C) Digital India Programme (D) Indira Gandhi National Open University (IGNOU)

IS &A1 10 1 91590 faffore w=n 8 7

What is the binary representation of decimal number 10 ?
(A) 0110 (B) 1001 (C) 1010 (D) 1100
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13.

14.

15.

16.

17.

18.

TiTege Sreg w1 dTead 2

(A) 1024 §T3¢H (B) 1024 ]%WﬁTﬂ'ISE:H (C) 1024 ﬁTI'IEl'IB?;H (D) 1024 Tﬁ’TWIE'{H
The term gigabyte refers to

(A) 1024 bytes (B) 1024 kilobytes (C) 1024 megabytes (D) 1024 gigabytes
TRl I TUAT =g F § | -1 W19 SYEd BiaT @ 7

(A) MS Access (TH. TH. Ta0H) (B) MS Excel (TH. TH. Tael)

(C) Google Docs (Tl STeH) (D) MS PowerPoint (TH. TH. YTelT1se)

Which tool is used among the following for data calculation ?

(A) MS Access (B) MS Excel

(C) Google Docs (D) MS PowerPoint

= -w ‘e feamw’ ® 7

(A) SR 1 et (B) HHIX (C) JiFeX (D) 3@ Tt

Which of the following is an ‘input device’ ?

(A) Bar code reader (B) Monitor (C) Projector (D) Braille reader
wRreefi aitfefaet o uRade o grera § Qe o gt fafafer & g & e S @

(A) TTifRfaeht (B) wftEe fagm

(C) Sietery fors™ (D) afeht

The timing of seasonal activities of plants in relation to change in environmental conditions is referred to as
(A) Ecology (B) Phenology

(C) Climatology (D) Forestry

‘SIS Tieishict feAfeiiad & 9 fore ush & gmfRa 8 7

(A) Terrad st @ (B) IEfH &

(C) Sfifaa Tenfera Shai & (D) IS Td TRET0T |

‘Cartagena Protocol’ is related to which one of the following ?

(A) Heritage sites (B) Wetlands

(C) Living modified organisms (D) Ozone layer conservation
Frafeiad & & -t T SR 3T SoTeft § SeT T SeeH STAfa i @il Td 99 dehdl § 7
(A) HTH TH (B) WA feIeyH

(C) e fi (D) e gfem

Which one among the following is a market based system where companies can buy and sell emission
permits ?

(A) Carbon Space (B) Carbon Sequestration

(C) Carbon Sink (D) Carbon Trading



19. Tafefea argweefa 9l s 3 3 Jiaerd < ged e § SFaferd Hif |

|. <hTe- SIS3T(HETES

1. ATgerS
. SATeSH

Iv. 3
e feu e e # | FwE IR gAT ;
<<
(A) L1 1V, 1 (B) I, 1v, 1,1 (C) 1, NIV, I (D) 1, m, 1,1V
Arrange the following atmospheric gases in order of their volume percentages in descending order.
I. Carbon dioxide
[I. Nitrogen
[ll. Oxygen
IV. Argon

Choose the correct answer from the code given below :
Code :

(A 1,11, 1V, 11 B) 1, IV, 1, i (C) 11,11, 1V, | (D) 1, 1L, 11, IV

20. Tr=taRaa ugl =t 37 wefla 3afy & g W Ted A § SFafedd Hivd |
ity

e

I

.

= feu U e ¥ @ wE W g

He:

(A) 4,3,2,1 (B) 4,1,3,2

() 3,2,1,4 (D) 3,4,2, 1

P 0 Dbd -

Arrange the following planets in descending order according to their orbital period.
1. Saturn
2. Mars
3. Jupiter
4. Uranus

Choose the correct answer from the code given below :

Code :
(A) 4,3,2,1 (B) 4,1,3,2
(C) 3,2,1,4 (D) 3,4,2,1



21. = Q1 e fou U 2, T & Tk 1 ATNR (A) TAT GER T BRI (R) HET TR

AU (A) : TS DS Tg T4 & Fehetohl TYg T T HAT ], 91 98 $S SR 33 I1dT 8 |
AT (R) : Y5 % o1 1 T TGl o oA b Ica H 37U 2 |

= feu U e § @ e W g

<<

(A) (A) 3R (R) EHI T & 3R (R), (A) 1 TE) SATEAT Ll &

(B) (A) 3R (R) THI T &, W] (R), (A) ! Tl A& &l Haat &

(O) (A)F &, Tg (R) TeTd &

(D) (A)TTeTd &, W (R) e B

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : When a ship leaves a river and enters the ocean it rises a little.

Reason (R) : The density of sea water is more than that of river water.

Select the correct answer from the code given below :
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true

22. Torm fafy =1 tfiger vy it wfufs 6 93 § iefish T SOt @ wra & foaee o =ier 6
1 el AT 7
(A) 143, 1947 (B) 123, 1947 (C) 043, 1947 (D) 033, 1947

On which date Gandhiji asked Congressmen to accept the Partition of India at the All India Congress
Committee Meeting ?

(A) 14 June, 1947 (B) 12 June, 1947 (C) 04 June, 1947 (D) 03 June, 1947
23, fr=fafad o & H-81 s fower aved! = § T8 8 7

(A) forem (B) =TT I

(C) &1 3R 919 (D) Tieh TRy

Which one of the following subjects is not in the concurrent list ?

(A) Education (B) Administration of justice

(C) Weights and measures (D) Public health
24. WIS fehteh ST H TSigd o ®9 W 30 AT 7

(A) fergamr (B) %M (C) T HH (D) SE5Y

In whose court did Megasthenes come as an ambassador ?

(A) Bindusar (B) Ashok (C) Chandragupta Maurya (D) Brihadratha

25. TSIl H g9 wed form 9 Sy feRem e o ¢

In which year Dyarchy was started in the provinces ?
(A) 1909 (B) 1919 (C) 1935 (D) 1937
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26.

27.

28.

29.

30.

IR e & foha 3g=se o dga e & IR 1 Hifees TR & &9 § T § Wit g 7

(A) ITTTWE 21(A) (B) 3TI=HE 45

(C) FIT=e 19 (D) 3TT=sE 32

Under which Article of Indian Constitution is the Right to Education guaranteed as Fundamental Right ?
(A) Article 21(A) (B) Article 45

(C) Article 19 (D) Article 32

fore afaum™ emed g1 HeshR) affaet i Faures gt JeH foham T ?

(A) 96T Tfay™ Genem (B) 97 df Gfae= Hmed

(C) 99 af Tiger HmeH (D) 101 df \faem= Gmed

By which Constitutional Amendment, the Co-operative Societies were given Constitutional status ?
(A) 96 Constitutional Amendment (B) 97 Constitutional Amendment

(C) 99t Constitutional Amendment (D) 101t Constitutional Amendment

HIfIg TEMER (2020 — 21) & S T8 X qLG TATIId ST hT HH ARART 1feTaedn & ded §
=afd IR |

(A) iV, T, I (B) ¥, i, e

(C) T, I, HfY (D) 3@, &e, HfY

Select the order of worst affected sectors in the context of Indian Economy during Covid Pandemic
(2020 — 21).

(A) Agriculture, Service, Industry (B) Service, Agriculture, Industry

(C) Service, Industry, Agriculture (D) Industry, Service, Agriculture

Teh @ <hl SUe, e forel) safaa <1 foreft sl 81 31 9 8191 A8 31 781 ST 8, el &
(A) 3T TSR (B) 3=t SR

(C) e serTH (D) Sed ST

A type of unemployment in which the presence or absence of a person in a job does not make a
difference, is called

(A) Under employment (B) Formal unemployment

(C) Seasonal unemployment (D) Disguised unemployment

T F91e (2025 —26) % T8 Tgell IR HeAT0T B HHITh GLaT whig &1 ST feam mm 2

(A) fafmior &= & sfient & fol (B) Y & % wftrehi & for

(C) FAHATET ek Aftep! o ford (D) wfgen Aftrent & ford

Under the Union Budget (2025 — 26), first time Social Security Scheme for Welfare has been proposed for
(A) Manufacturing workers (B) Agricultural workers

(C) Online platform workers (D) Women workers



e

31.

32.

33.

g — foar /A
MUSIC SITAR/INSTRUMENTAL

T i AU & AR grardt Yfd & Traret i 1 A F=AT O 2

(A) T (B) et

(C) T=Eu (D) SATATIO

What will be the name of Samvadi Shruti of Chandovati Shruti according to 13 Shruti interval ?
(A) Rakta (B) Madanti

(C) Sandipani (D) Aalapini

T TR B Tl B % oI 9 37w 13 et % =t + sl @ TevEs g 7
(A) Tl Tl w1 Tafash B

(B) QI T&i T FHIHIA BT

(C) BT TR 1 g B

(D) Iulri H § IS Tl

Except the interval of nine and thirteen Shrutis what is the other necessary element to have samvad
between two Swars ?

(A) Both Swar should have equal Shrutis
(B) Both Swar should have same nature
(C) Both Swar should be natural

(D) None of the above

T T 1 U gU 31 FUIHHT T o FS TR Hl TN A hl AT BT hed & 7
(A) 3rarfeaent B) TRy
(C) et (D) T & 1S T

The process of using some Swars (Notes) of other Samprakriti (similar) Raga’s while hiding the main
Raga is called

(A) Akshiptika (B) Tirobhav

(C) Avirbhav (D) None of these



e

34.

35.

36.

37.

TACUE ThTITehT B fohd JehR % THehT ST G I BT B 7

How many types of Gamakas were describe in Chaturdandi Prakashika ?

(A) 15 (B) 16
) 17 (D) 18

R TR o1 T B @

Value of Third Interval is

(A) 98 (B) 5/4

(C) 4/3 (D) 3/2

g T e i et &

(A) 5 T (B) ¥ hl F&A

(C) AEM W (D) T T I
Intensity (Teevrata) of Nad depends upon

(A) Substance (B) Number of vibration
(C) Frequency (D) Amplitude of vibration
T Y Th 31Uk deAter @i et fean S at 39 %ed &

(A) Toe s

(B) ToeprusH

(C) &I

(D) S Hige FRAMT

If more than one melody is mixed together it is called as
(A) Simple Harmony

(B) Syncopation

(C) Slur

(D) Counter point harmony

26
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38.

39.

firetr shifse |

g T
a. e
b. e
c. HIE
d. gt
(A) a-Illlbb-1,c—1V,d-Il
B) a-Il,b-1l,c—1V,d-1ll
(C) a=lll,b=1l,c—Il,d=1V
(D) a—-1lllLb—IV,c—1,d—-1l
Match the following.

Hindustani Raga
a. Aashawari
b. Todi
c. Marwa

d. Poorvi

(A) a-lllbb—Lc—-1IV,d-Il
B) a-=Il,b=Il,c—1Vv,d-ll
(C) a-ll,b-Lc—-1ll,d=1V

D) a-lll,b—1V,c—1,d—1l

THUTICRTT AT

. HIEe
. A

Carnatic Raga
Shubhpantuwarali
Kamvardhini

Nat Bhairvi

Gamanpriya

4. sfifrer & FER g qem B wH-E seen gen v g 7

According to Pt. Sriniwas on which frequency Tivra Madhyam is fixed ?

8
(A) 344 —
13

(C) 288

(B) 381 >

17
(D) 360

-10-
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40.

41,

42.

43.

44,

“wrffq TiSITa’ o STER T <l T fehat 8 7
The number of Ragas according to the ‘Sangeet Parijat’ are

(A) 200 (B) 225 (C) 125 (D) 264
‘far, ‘@, A I TER A IE A @
(A) AT o T (B) T TER (C) TAT AL (D) AT TER

‘Kala’, ‘Laya’, ‘Yati’ and ‘Prastar’ are known as

(A) Pranas of Taal (B) Rag Prastar (C) Rag Lakshan (D) Taal Prastar

Fiesh WTd hl Al fhd fegearl @ifid <l fid w1 o §HH 8 ?

(A) g7e (B) T
(C) wEuTiid (D) =l

Which vocal form of Hindustani Music is similar to Javali of Carnatic music ?

(A) Dhrupad (B) Tarana

(C) Lakshangeet (D) Thumari

9. WIAEUE % IJER g "o fohd gfd w wenfua g ¢

(A) adept (B) wEifor

(C) HSHt (D) afSTeRt

According to Pt. Bhatkhande on which Shruti Suddha Madhyam is established ?
(A) Raktika (B) Prasarini

(C) Marjani (D) Vajrika

T fagu =1 Wi @

(A) heToT T (B) Teremeret T

(C) =TI TATHT (D) @l TaTi

Ragang of Raga Sindura is

(A) Kalyan Ragang (B) Bilawal Ragang

(C) Kafi Ragang (D) Todi Ragang

-11-
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45.

46.

47.

48.

THEH ST3 Treh! shi fopd foem o for widg oft

(A) B T o (B) gua o gull

(C) a0 9 W (D) gl 9 Tu

In which form of singing Rasoolan Bai was famous ?

(A) Khyal and Tappa (B) Dhrupad and Thumari
(C) Thumari and Bhajan (D) Thumari and Tappa
TR 6t fRos@T Td % veds o

(A) TR @t g (B) TRUst @i 37
(€) fRis &f 7 )RERERCIRAL
Firozkhani Gat of Sitar was introduced by

(A) Firoz Khan Sadarang (B) Firoz Khan Adarang
(C) Firoz Khan Manrang (D) Firoz Khan Dhadi

efieeh Gl o ‘e’ o oo Fitford g1 8 7
(A) I, TET 9 TG o did
(B) Hfew, T 9 Sedheg,
(C) T, TUAT I AleTohdg,

(D) HUH, dTHT d ey

Which one of the combination is included in terms of ‘Prabandh’ in Carnatic Music ?
(A
(

(
(D

Kavya, Tarana and Bole’s of Mridangam

vy

Literature, Sargam and Chollukettu

O

Kavya, Tarana and Chollukettu

)
)
)
) Sargam, Tarana and Kavya

Torg T T T STee BT YT T UfgT % 3 B BT 7
(A) T (B) hetl (C) =it (D) 3wl

In which singing form the word ‘Rama’ is used in end of the each line ?

(A) Tappa (B) Kajari (C) Chaiti (D) Thumari
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49. = @ @ fopm R faem w1 <fror wiRa ® Hiecisheg % AT | ST ST B 7

(A) =qu (B) gl
(C) T (D) <o

Which of the following singing form is known as Chollukettu in South India ?
(A) Chaturang (B) Thumari

(C) Trivat (D) Tappa

50. Y& <l o9 I ¥ Jad AT I had &

(A) Hfeft (B) THfEA
(C) wreHt (D) ATt
The Jati of Prabandh having three Angas is called

(A) Medini (B) Aanandini
(C) Bhawni (D) Tarawali

51. UHT o JAfashiteh &

(A) SETg g @ (B) =@ @i

(C) &ia 3t gl (D) TeT Felt =
Tarana was introduced by

(A) Bahadur Hussain Khan (B) Tanras Khan

(C) Hazrat Amir Khusro (D) Gulam Nabi Shori

52. fRUsra Td % @19 gEa: SH-H aret S St oft ¢
(A) dieret (B) THATA
(C) HATSI-=RdTA (D) IRATA
From the following Talas which Taal is mainly used to play with Firozkhani Gat ?
(A) Teen Taal (B) Eak Taal

(C) Ada-Chartaal (D) Char Taal

-13-
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53.

54.

55.

56.

gferg T TaTE TR T U A

(A) . THATS: HGIIeThl (B) ST TST&®

(C) @. Tood et @f (D) 3. Hifesh 37ctt @i
The full name of the famous singer Sawai Gandharv is

(A) Late Ram Bhau Kundgolkar (B) Basawaraj Rajguru
(C) Late Rajjab Ali Khan (D) Ustad Sadik Ali Khan

T @, §g TN T TN TEHG TR HeTh S8 H Fohe B ol Tl shd & 7

(A) Tl ST (B) 3R &I

(C) feweft err (D) TeRtrT T

Which one of these Gharanas was represented by Nanhe Khan, Bundu Khan and Naseer Ahamad ?
(A) Patiyala Gharana (B) Agra Gharana

(C) Delhi Gharana (D) Kirana Gharana

=1 & @ -1 AR 1 yum 9 ygE W 7
(A) TR (B) T&X (C) SR (D) sera

Which one of the following is the first and main Gharana of the Sitar ?
(A) Rampur (B) Maihar (C) Jaipur (D) ltawa
TH & T | 9 ¥ Siss % w § safed Hifv |
. frama @t
I, wEfa @t
. T @l
Iv. TR @t
(A) 1, Iv, B) LI, Iv, I (C) LIV, 11,1 (D) I, IV, 1L, 1
In same tradition, arrange the following from senior to junior.
I. Niyamat Khan
II. Masit Khan
[ll. Raja Khan
IV. Firoz Khan
(A) 1Im, v, B) LI, 1v, 1 (C) LIV, 11,1 (D) I, IV, 1L, i
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57.

58.

3 % AR TfIRad &l aftss § 53 o A T AT HINT |

| TferereRt
Il. 3Tegel BeliH SR @i
. foermea @t
lv. fiReer ssfi
(A) 1,11, 10, 1V B) 1,1V, 1,11 (©) I, 11,1V, |
Arrange the following according to the age from older to younger.

I. Ravi Shankar
Il. Abdul Haleem Zafar Khan

[ll. Vilayat Khan

IV. Nikhil Banerjee

(A) 111,10, 1V B) 11, 1V, 1, 11 ©) I, 1,1V, |
HUHT UF d1eT et o FHMEAT o MR W 3fea e il |

a. og 9l . iy @t

b. 3Tl 3TheR @I II. Fgea g T

c. Toemaa @t . 3TN 3Teft @t

d. Tftrest AT Higa Iv. frema @t

(A) a-llLb—1,c—1V,d—Il
B) a—Il,b=1,c—IV,d—1ll
() a-lll,b—1V,c—1,d—1l
(D) a-lL,b—IV,c—Il,d—1Il

Match the following according to similar Gharana and style of playing.

a. Debu Chaudhury I. Ashish Khan
b. Ali Akbar Khan II. Buddhdev Das Gupta
c. Vilayat Khan I1l.  Aashiq Ali Khan
d. Radhika Mohan Moitra IV. Nishat Khan
(A) a=Illlbb=Lc—=1IV,d-Il
B) a=Ill,b—=ILc—1IV,d-1l
(C) a=-ll,b=1V,c—1,d-1l
(D) a=Lb—=IV,c—Il,d=1l

-15-

(D) 1, 1V, 11, Ill

(D) 1, 1V, 11, 11l
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59.

60.

61.

62.

T U B HATHR B: T IR A Jad TS T TN HLT 8 7

(A) 3w el @i (B) S greaTet
(C) At FAha Wi (D) ST @

Which among the following Artist uses Sarod with six main strings ?

(A) Amijad Ali Khan (B) Jareen Daruwala

(C) Ali Akbar Khan (D) Bahadur Khan

T AT TS Y 3feh STEdI G i T Il 919 W FIed ST hedTdl &

(A) ST o (B) R W

(C) Tg-Te (D) TE-TTE

To play one or more than one Aawartan of Paran of Mridang on an string instrument is called
(A) Bol Paran (B) Tar Paran

(C) Lad-Lapet (D) Lad—-Guthav

WA 9 = S h g fonddl 9 g 7

How many Nyas Swars are described by Bharat ?

(A) 15 (B) 20 (C) 21 (D) 10

freaferfiad & @ ford erer 3 T 29 Afera’ I @A AR 7

(A) 4. FiRger s=sit (B) FEER @f
(C) HfvTeTTer T (D) |. e
From the following Artists, who composed Raga ‘Hem Lalit’ ?

(A) Pt. Nikhil Banerjee (B) Allauddin Khan

(C) Manilal Nag (D) Pt. Ravi Shankar

-16-
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63.

64.

65.

66.

TReshd Hfid Hehteg o1 fedta a1eam fopm W smenfa 2 2

(A) AT I (B) T ™
(C) ISR W (D) I W
Second chapter of Sangeet Makrand written by Narad is based on
(A) Raga (B) Swar

(C) Vageykar (D) Dance

fopem “gfa gdwr A & I feRa ¢

(A) ¥ g (B) . wrermfor firsm

(C) = grEfd (D) . STHRATY 3T

Who done the experiment named ‘Shruti Darpan’ ?

(A) Bharat Muni (B) Pt. Lalmani Mishra

(C) Acharya Brihaspati (D) Pt. Omkar Nath Thakur

T AR fehad T T FUH U BT & 7

How many ‘Sansthan’ were described in ‘Raga Tarangini’ ?

(A) 11 B) 12

(©) 13 (D) 14

Tftq TRt | HTd Y T bt yfat o Stfafta 3= ot ot fopw A @ granfera feean

TR ?

(A) i fer (B) =
(©) wfa yfa (D) ST Hfe
In Sangeet Ratnakar what is the name of Shruti other than the Shrutis of seven Suddha Swars ?
(A) Shruti Jati (B) Antar Shruti
(C) Prati Shruti (D) Praman Shruti
17-

26



e

67.

68.

69.

70.

IRITCH S G TR i fohe 311 T | off S San @ ¢
(A) @i (B) G
(C) STt (D) 3T Tfa TR

Sangeet Ratnakar of Sharangdev is also known as

(A) Sangeet Kosh (B) Saptadhyai

(C) Ashtadhyai (D) Anoop Sangeet Ratnakar
e feReehT SRR B 7

(A) Hrfereh ST (B) wwTd

(C) wafirard (D) hfar

Jrimbha is a kind of
(A) Satvik Anubhav (B) Sanchari

(C) Vyabhichari (D) Kayika

arferes I & e TR R 7

How many types of Satvik Anubhav are ?

(A) 5 (B) 8

©) 9 (D) 12
‘SRR I AR W@ 1 fagra ferem feam 2

(A) WHh (B) Wg T
(C) IhEa T (D) g dleete

Who describe theory of ‘Rasa’ according to ‘Alankar Shastra’ ?
(A) Shankuk (B) Bhatt Nayak

(C) Abhinav Gupt (D) Bhatt Lollat

-18-
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71. Wg WAlocle o W@ g & AR I 1eg &1 37 7

(A) ferrerTg (B) 3rfufererre

(C) RITeTg-3cafwaTg (D) IR -IATEHATE
What is the meaning of Sanyog according to Rasa theory of Bhatt Lollat ?

(A) Bhuktivaad (B) Anumitivaad

(C) Aaropvaad-Utpattivaad (D) Utpaddya-Utpadakvaad

72. = < weH feu U B

A — | : T T G ATTd A3 T UG 8 T 38 1 A & - 1 Fadg, W Fadre, 9%
EREIA

FHYA - |l : Teho! & ITEAR ““Ti=ed 1 <9 =7 =7 & TR 7 |
Iuder HeHT o 3Tl § fmfafad § & wd 3w g |

(A) HUT | TI || HT AT &

(B) ¥ | Td || HI I B

(C) Y | I UG || 3HA B

(D) Y | 3 T || T B

Two statements are given below :

Statement — | : The philosophy of Aesthetic is based on Lalit Kala and it has three Sutras like — Nad

Brahmavaad, Rasa Brahmavaad, Vastu Brahmavaad.

Statement — Il : According to Burkley “The ultimate source of beauty is God”.
In the light of the above statements choose the correct answer from below.
(A) Bothland Il are false

(B) Both I and Il are true

(C) Statement | is true and Il is false

(D) Statement | is false and Il is true
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73.

74.

75.

TR & IR @ &l e feve 61 7
(A) 3t T (B) g TRH (C) wg ieeie (D) ¥1%HF
Who described ‘Rasa’ according to Numerology ?

(A) Abhinav Gupt (B) Bhatt Nayak (C) Bhatt Lollat (D) Shankuk

3MYfIh TAER ufFd U6 areEed i fha @ ¥ waifed A TR R 7
(A) TR & H (B) &= W T (C) I=d W@ | (D) U | T

According to modern views in which of the following ‘Rasa’ the Bhakti and Vatsalya is categorised ?

(A) in Shringar Rasa (B) in Hasya Rasa (C) in Shant Rasa (D) in Karun Rasa
EIEGRECICIETE

a. faar |. 3T8g et @

b. TEER II. TRt AE Wga

c. WG . w& @t

d. & ftom IV. 39 @f

(A) a—=IV,b—1lll,c—I,d—1
B) a—IllLb—IV,c—1I,d—1l
(C) a-=ll,b=1IV,c—1Il,d—I
(D) a—=Il,b=1,c—Ill,d=IV

Match the following :

a. Sitar [. Asad Ali Khan

b. Surbahar II. Radhika Mohan Moitra
c. Sarod Ill. Rais Khan

d. Rudra Veena IV. Imrat Khan

(A) a-1IV,b—1Ill,c—I,d—I
B) a-ll,b—1IV,c—1I,d—Il
) a-lll,b—1V,c—1Il,d—1

D) a—-I,b—1,c—Ill,d—IV

-20-
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76.

77.

78.

TS H 919 o IR sl T & Y0 =9’ Rl i fhe 9 § fiermd 8 7

(A) , &, 9,3 (B) 9, &, 1,3

(C) w, 4, [, | (D) =1, 9, €1, 9

In Sarod starting from Baaz string in which order the first four strings are tuned ?

(A) Ma, Sa, Pa, Re (B) Pa, Sa, Ma, Re
(C) Ma, Sa, Pa, Sa (D) Sa, Pa, Sa, Pa

frefafed § & oF sEAg I & 7
I 9qr
Il HTeX

. <HHT

V. 379

v. Temfesn

(A) Hae Il (B) ITF IV
() nwa (D) 39U et

Which of the following are Percussion Instruments ?

I. Pepa

II. Madar

[ll. Damama

IV. Apang

V. Chimtiya

(A) Only Il (B) llland IV
(C) llandlll (D) All the above

Arehare aEr frg i A g 7

(A) Tq (B) 37Hg (©) gfw (D) =M
In which category the ‘Tasa’ folk instrument is categorised ?
(A) Tata (B) Avanaddha (C) Sushir (D) Ghan

-21-
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79. 3nyfeh 1§ “fuarehl don’ w1 uftadia €1 w1 R 7
(A) feereaT (B) TIg
(C) mmft (D) TET

Which is the change structure of ‘Pinaki Veena’ in modern period ?
(A) Dilruba (B) Sarod
(C) Sarangi (D) Israj

80. . ¢d=: HECYR fohd ITE % HABR & 7

(A) 8T (B) e
(C) igh (D) Hetfe
Pandit Devendra Murudeshwar is an Artist of instrument

(A) Santoor (B) Guitar
(C) Flute (D) Mandolin

81. = o ¥ -9 gt & ar’i sl et <l urvares ugfd & 7
(A) 7,91, 1, % (B) @1, 9, ®1, 9
(C) 9, &I, 9, ® (D) W, €1, 9, |

Which among the following is the Tuning system of Violin based on Western Music ?
(A) Ma, Sa, Pa, Re (B) Sa, Pa, Sa, Pa
(C) Pa, Sa, Pa, Sa (D) Ma, Sa, Pa, Sa

82. Bl i ford dTetl o 91 TR ST @ ?

(A) AT - Ferdret (B) ST~ ol

(C) U¥dl - ®9h (D) T - TSI
Hori is sung with Taal’s

(A) Chautal — Sooltal (B) Dhamar — Deepchandi
(C) Pasto — Roopak (D) Teevra — Adachautal

-22-
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83.

84.

AR ARl b WY T B AT T&T 9T B
(A) drEr (B) cHMI

(C) =Hq

LN

(D) R

The instrument mainly used with folk form ‘Nautanki’ is

(A) Tasa (B) Damama
(C) Ghatam (D) Naggara
= @ e feu o 2

T — | : T TSITSl WIST BT TR T i R |

O — Il : ToT T MR f=r e fife 2

S e 3 ool i et 3 @ T O |
(A) e 1TE II, SH1 Ted &

(B) M | A TH || 378 B

(C) U 1T II, SHT 31 &

(D) M | 3T T 11 T B

Two statements are given below :

Statement — | : Tappa is a song, sung in Punjabi language based on Sringar Rasa.

Statement - Il : Tappa is based on Bhinna Giti.

In the light of the above statements choose the correct answer from below.
(A) Both statement | and Il are true

(B) Statement | is true and Il is false

(C) Statement | and Il are false

(D) Statement | is false and Il is true

-23-
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85. guferd HIRT |
T - | = -1l
a. focfaa i S &
b. T i, fergrdl 3T
c. ol iii. &= d
d. = iv. TR

(A) a—ii,b—ii,c—i,d—iv
(B) a—i,b—ii,c—iv, d—ii
(C) a—ii,b—i,c—iv, d—ii
(D) a—ii,b—iv,c—ii,d—i

Match the following.

List—1 List—1I
a. Bidesiya i. Braj Kshetra
b. Raas ii. Bihari Thakur
c. Kajari iii. Basant Season
d. Chaiti iv. Mirjapur

(A) a—ii,b—ii,c—i d—iv
(B) a—i,b—ii,c—iv,d—ii
(C) a—ii,b—i,c—iv, d—ii

(D) a—iii, b—iv,c—ii,d—i

g6. fmfafgd d 9 wia-d) o fia deh STwey T=v 4 g=fRa 18 @ 2

(A) @R (B) T

(C) e (D) =it

Which of the following form of Folk Song is not related to Uttar Pradesh ?
(A) Languriya (B) Tappa

(C) Nautanki (D) Chaiti
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87.

88.

89.

= < e fou e 2

HUA — | : AT HENTSE T TG ARIA @ |
U — |l : AT AT H THE &9 § i1 oG are S Rt S g |
IR BT o 3Tl # el § 8 w& I T |

(A) HUF | TT || HT T &
(B) YT | TF || ST AT &

(C) HUT 18 7 Tohe oM 11 3T 8

(D) YA | 3 T A 11 TT B

Two statements are given below :

Statement — | : Lavani is the famous folk dance of Maharashtra.

Statement — Il : Mainly Dhausa percussion instrument is accompany with Lavani Dance.

In the light of the above statements choose the correct answer from below.

(A) Both statements | and Il are true
(B) Both statements | and Il are false
(C) Statement I is true but Il is false

(D) Statement | is false but Il is true

T Heho 1 HIEAT Hid 8

(A) HT&EThR

(C) #.E.

Secondary source of data collection is
(A) Interview

(C) C.D.

fmo farfir fordt e € 2
(A) I 8 fomw $i 3R
() Tomiw @ g 6t 3R
What is deductive method ?
(A) From general to specific

(C) From specific to general

-25-

(B) T fehe
(D) SR | H g A&l

(B) Postal stamp

(D) None of the above

G RELREIR TiED
(D) 3WIad T & i &l

(B) Simplification of subject

(D) None of the above
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90.

91.

92.

93.

i -ATgfoawh RIey Rt TR 2 7
(A) FHTSIAT et

(C) hier e

Stratified random sampling is kind of

(A) Probability sampling

(C) Kotes sampling

Y hH ww@E 3§ aftferd T& 1 S =R
(A) Y Tt T 31T

(C) Ufehedat

Research synopsis should not include

(A) Review of Literature

(C) Hypothesis

HTEATCHe UM fohe Tgfd W 3TaTid 2 7
(A) SATTHA

(C) HTHTcHS

(B) JTERSIAT =Ies!
(D) ATHITIH =TS

(B) Non probability sampling

(D) Accidental sampling

(B) Sy fshy
(D) WY Ig

(B) Conclusion of Research

(D) Objectives of Research

(B) Fm=

(D) HUTcH

On which method the quantitative research is based ?

(A) Inductive

(C) Quantitative

TTH U D g1 Hebo 1 IUHLT T8l & 7
(A) TR

(C) AW yu=

What is not a tool of data collection ?

(A) Hypothesis

(C) Enquiry form

-26-

(B) Deductive

(D) Narrative

(B) HT&ATHR

(D) THa&To

(B) Interview

(D) Observation
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94. F - I A - 11 GHTTd T |

95.

T - 1T it - Il U1

a. fegm i. STh!
b. HAdH! ii. foretae
c. eEm iii. el
d. 9ed iv. 3TETE
(A) a-iv, b—ii, c—i, d—ii
(B) a—ii, b—iv, c—ii, d—i
(C) a—ii, b—ii, c—iv, d—i
(D) a-i, b-ii, c—ii, d—iv
Match List — | with List — II.
List — | Raga List — Il Thaat
a. Bihag i. Kafi
b. Multani ii. Bilawal
c. Darbari iii. Todi
d. Patdeep iv. Aasawari
(A) a—iv, b—ii, c—i, d—ii
(B) a—ii, b—iv, c—ii, d—i
(C) a-—ii, b—ii, c—iv, d—i
(D) a-i, b—ii, c—ii, d—iv

TeT U0 ] ALY 91 TR AFRL §' T 1§ 9 WX g9 © foh8 T & T 91ed g 7
(A) B (B) HTE{SIE

(C) StFa=il (D) foemeEr et

After fixing middle Sa on Middle Pancham the Swar of which Raga will be obtain by playing
M'a Pa Ga Ma Dha Swars ?

(A) Hameer (B) Marubihag

(C) Jaijayvanti (D) Bilaskhani Todi
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96. W& % ITTHR I I A fed & A & Y&t H SFafeya iy |

97.

i, TSI
i, oot
iii. o

iv. 3T
v. TTR(eEn

(A) i, i, iv, v, i (B) iii, iv, ii, i, v

(C) iii, iv, i,

i, v

Arrange the following Raga in sequence of Morning to Night Prahar.

i. Adana
ii. Bhimpalasi
iii. Bhairav
iv. Asawari
v. Marubihag

(A) i, i, iv, v, i (B) iii, iv, ii, i, v

gHford it |

a. MITgIRHT

b. Ham®, wuna, gy
c. Tugfay, annl

d. unHY, Haray

(A) a—ii, b—iv, c—i, d—ii
(C) a—ii, b—ii, c—iv, d—i
Match the following.

a. Ni Dha Pa Dha Ga Ma Ga

b. MSa Ma, Ma Pa Ga Ma, Ma Ga
Re Sa

c. GaPaDha Ni Dha Pa, Ma Ga Ma Re

d. Ma Pa Ga Ma Pa, Ni Sa Dha Pa
(A) a—iii, b=iv, c—i, d—ii
(C) a—ii, b—iii, c—iv, d—i

-28-

(D) iii, iv, ii, Vv, i

(C) iii, iv, i, ii, v (D) iii, iv, ii, V, i
i. 3Teadn fadmEa

ii. g2

iii. TS

iv. et

(B) a—iii, b—iv, c—ii, d—1i

(D) a—i, b—ii, c—iv, d—ii

i. Alhaiya Bilawal

ii. Patdeep

ii. Khamaj

iv. Bhimpalasi

(B) a—ii,
(D) a-i,

b-iv, c—ii, d—i

b —ii,

c—iv, d—iii
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08. Tr=fafaa § & for T sifeai & anfawla-ferivra wfseen awvE 2 7

a. ToemaEr aEt i, 3TSMT

b. HIET i, 3TETE

c. @ iii. ShITET REH TETa

d. S iv. Trfet

(A) a—ii, b—iv, c—i, d—ii (B) a—iii, b—iv, c—ii, d—i
(C) a—iv, b—ii, c—ii, d—i (D) a—iv, b—ii, c—i, d—ii

In which pair of Raga the process of Avirbhav and Tirobhav is possible ?

a. Bilaskhani Todi i. Adana

b. Marwa ii. Asawari

c. Darbari iii. Komal Rishabh Asawari

d. Jaunpuri iv. Sohini

(A) a—iii, b—iv, c—i, d—ii (B) a—iii, b—iv, c—ii, d—i
(C) a-iv, b—iii, c—ii, d—i (D) a—iv, b—iii, c—i, d—ii

99. =g e fewmu B :
HUT — | : T Hifeh FHET Ue 5= 2 |
A — Il ; T Hifght Ug T AT gEEEy O |

Swed BT & et # Frferfiad & & T ST |
(A) THI YT | TT || FEST & (B) ST e | U || T 8
(C) U | T T HUA || A B (D) e | 3T Td HH || HT 8

Two statements are given below :

Statement — | : Raga Sohini is originated from Marwa Thaat.
Statement — Il : Raga Sohini and Raga Marwa both have same notes.

In the light of the above statements choose the correct answer from below.
(A) Both statement | and Il are false (B) Both statement | and Il are true

(C) Statementlis true and Il is false (D) Statement | is false and Il is true

-29-
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100. = g e fgumu 2
FHUF — | : T TG @ Teh T T 7
U — |l : T 9 o A1E-THTG] AR T 9 @R G |
IR HeHT o 3Tt # ffafed § & wd 3w g |
(A) THI YT | T || T &
(B) T | T T HUT || T &
(C) ¥ | 3T U || TG B
(D) ¥ 1T || SHT 318 8
Two statements are given below :

Statement — | : Raga Bhairav is itself a Ragang Raga.

Statement — Il : Vadi and Samvadi swaras of Raga Bhairav are respectively Ga and Dha.

In the light of the above statements choose the correct answer from below.

(A) Both the statement | and Il are true

(B) Statement | is true and Il is false

(C) Statement | is false and Il is true

(D) Both the statement | and Il are false

-30-
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